IECSRGBuU2 standard lightnessL*

L* YocsL*w - nc=100,

L* |EcsraBuz=50 (YY) Y20(Y, =18, Y, /100Y<=Y,0)
L*\(3,6)=22,L* ,(18)=50,L*(90)=112

1,518
1200

Yn=3.6

IECSRGBuU2
tristimulus value difference

YoemL*w - =100,
L* |EcsraBuz=50 (Y/Y,) Y20(Y, =18, Y, /100Y<=Y,0)
log(dY) = (1/2,0) log[2,0¢,/50)] + [1-(1/2,0)] log¥)

.
L* =50, dY,=4,0Q dY,/Y,=0,2222 _ -~
log(dY)=4,00 m,=0,50

application
range
Y,=18
1 Yy=90

log AY/Y) IECSRGBu2
_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,
L* iEcsraBuz=50 (Y/Y) 20(Y,=18, Y,/ 100Y<=Y,o)
log(dY/Y)= log[2,0(Y,/50)] - (1/2,0) log{/Y,)
= (1/2,0) log[2,0¢,/50)] - (1/2,0) log{)

Iog(dY/Y):—O 65 m,=-0, 500~ N

- application
* =50, dY,=4,00 dY,/Y,=0,2222 1

<~ _range
" 7,

1
1Y,=18

YN=36 ' Yy=90

log (Y/AY)
C,=(Y/AY)

IECSRGBu2

tristimulus value contrast

Yo=L*w - 6 :ne=100,

L* iEcsraBuz=50 (Y/Y,) 20(Y =18, Y,/ 100Y<=Y,o)

log(Y/dY)= - log[2,0/,,/50)] + (1/2,0) log{/Y,)

= - (1/2,0) log[2,0¢,,/50)] + (1/2,0) logy{)
"\

* =50, dY,=4,0Q Y,/dY,=4

application
range

1v,=18
Yi=90

L¥/L* IECSRGBU2 relative standard lightnessL*/L*

L*/L* u YocmL*w nc=100,

L* 1csraBuz=50 (Y/Yy) Y2 0(Y =18, Y,/ 1002Y<=Y, o)
L* \(3,6)=22,L* ,(18)=50,L* ,(90)=112

Yn=3.6  Yyw=90

log(A Y/AY W)
AYIAY,

IECSRGBU2 relative
tristimulus value difference

Yne=L*w ne=100,
L* 1EcsreBuz=50 (V1Y) Y20(Y,=18, Y,/ 1002Y<=Y, o)
log(dY/dY,) = [1~(1/2,0)] log¥/Y,,)

L* =50, dY,=4,0Q dY,/Y,=0,2222 _ ~

application
7 range

1y,=18
Y=90

YN=3.6

log [(AY/Y) I (AYIY)] IECSRGBU2 relative

_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
L* 1EcsraBuz=50 (Y/Yy) Y2 0(Y,=18, Y,/ 100<Y<=Y, o)
log[(dY/YV)/(dY/Y),] = - (1/2,0) log¥/Y,,)

Iog[(leY)l(dY/Y)_'] 0, m=-049 1
L* =50, dY,=4,00 dY,/Y,=0,2222 }

1y, =18
=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] IECSRGBuU2 relative
CICy=(YIAY)(YIAY), El(snnﬂglus valug cgmrast

nc=100
L* 1EcsreBuz=50 (Y/Yy) Y2 0(Y,=18, Y,/ 100<Y<=Y, o)
logI(Y/dY)/(Y/dY),] = (1/2,0) logiY/Y,)

application
range

Yy=90




